

## IMPROVED INEQUALITIES FOR TRIGONOMETRIC FUNCTIONS VIA DIRICHLET AND ZETA FUNCTIONS

D. AHARONOV AND U. ELIAS

(Communicated by J. Pečarić)

*Abstract.* The article discusses several improvements of well known inequalities for trigonometric functions. We utilize the monotonicity of the Riemann zeta function, as well as the Dirichlet eta, beta and lambda functions, to shorten the proofs of known inequalities for trigonometric functions, and to obtain new ones.

### 1. Introduction

The purpose of this work is to suggest a method which leads to short proofs for a family of trigonometric inequalities; among them, the inequality of Becker and Stark [2]

$$\frac{8/\pi^2}{1-x^2} \leq \frac{\tan(\pi x/2)}{\pi x/2} \leq \frac{1}{1-x^2}, \quad -1 < x < 1, \quad (1.1)$$

the inequality of Redheffer [6]

$$\frac{1-x^2}{1+x^2} \leq \frac{\sin(\pi x)}{\pi x}, \quad -1 < x < 1, \quad (1.2)$$

and the inequalities of Chen and Qi [4], where for all  $-1 < x < 1$ ,

$$\frac{2}{\pi} \frac{x}{1-x^2} \leq \frac{1}{\pi x} - \cot(\pi x) \leq \frac{\pi}{3} \frac{x}{1-x^2}, \quad (1.3)$$

$$\frac{\pi^2}{8} \frac{x^2}{1-x^2} \leq \sec \frac{\pi x}{2} - 1 \leq \frac{4}{\pi} \frac{x^2}{1-x^2}, \quad (1.4)$$

$$\frac{\pi}{6} \frac{x}{1-x^2} \leq \operatorname{cosec}(\pi x) - \frac{1}{\pi x} \leq \frac{2}{\pi} \frac{x}{1-x^2}. \quad (1.5)$$

The main tool in doing so is to express the power series expansions of trigonometric functions in terms of the Riemann zeta function and the Dirichlet eta, beta and lambda functions,

$$\zeta(p) = \sum_{n=1}^{\infty} \frac{1}{n^p}, \quad \eta(p) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^p}, \quad \beta(p) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)^p}, \quad \lambda(p) = \sum_{n=0}^{\infty} \frac{1}{(2n+1)^p}.$$

*Mathematics subject classification* (2010): 26D05.

*Keywords and phrases:* Trigonometric inequalities, Becker–Stark inequality, Redheffer inequality, Dirichlet functions.

The expansions we use are, [7, Section 3:14],

$$\frac{\tan(\pi x/2)}{\pi x/2} = 1 + \frac{8}{\pi^2} \sum_{k=1}^{\infty} \lambda(2k+2)x^{2k}, \tag{1.6}$$

$$\sec \frac{\pi x}{2} = 1 + \frac{4}{\pi} \sum_{k=1}^{\infty} \beta(2k+1)x^{2k}, \tag{1.7}$$

$$\pi x \cot(\pi x) = 1 - 2 \sum_{k=1}^{\infty} \zeta(2k)x^{2k}, \tag{1.8}$$

$$\frac{\pi x}{\sin(\pi x)} = 1 + 2 \sum_{k=1}^{\infty} \eta(2k)x^{2k}, \tag{1.9}$$

$$\ln \left( \frac{\tan(\pi x/2)}{\pi x/2} \right) = \sum_{k=1}^{\infty} \frac{\eta(2k)}{k} x^{2k}, \tag{1.10}$$

$$\ln \left( \sec \frac{\pi x}{2} \right) = \sum_{k=1}^{\infty} \frac{\lambda(2k)}{k} x^{2k}. \tag{1.11}$$

$$\ln \left( \frac{\pi x}{\sin(\pi x)} \right) = \sum_{k=1}^{\infty} \frac{\zeta(2k)}{k} x^{2k}, \tag{1.12}$$

Let us demonstrate a short proof of (1.6). Starting with the partial fraction expansion of the meromorphic function  $\tan(\pi x/2)$ , we get for  $|x| < 1$  that

$$\begin{aligned} \frac{\tan(\pi x/2)}{\pi x/2} &= \frac{8}{\pi^2} \sum_{n=0}^{\infty} \frac{1}{(2n+1)^2 - x^2} = \frac{8}{\pi^2} \sum_{n=0}^{\infty} \left( \frac{1}{(2n+1)^2} \sum_{k=0}^{\infty} \left( \frac{x}{2n+1} \right)^{2k} \right) \\ &= \frac{8}{\pi^2} \sum_{k=0}^{\infty} \left( \sum_{n=0}^{\infty} \frac{1}{(2n+1)^{2k+2}} \right) x^{2k}, \end{aligned}$$

which is precisely (1.6). A similar approach may be applied to (1.7)–(1.12). Surely, expansions (1.6)–(1.12) are much simpler than the equivalent presentations which involve Bernoulli and Euler numbers. The chief benefit of these expansions lies, however, in the monotonic decreasing behavior of the coefficients  $\zeta(2k)$  and  $\lambda(2k)$ , and the increasing behavior of  $\eta(2k)$  and  $\beta(2k+1)$ . The decreasing of  $\zeta(2k)$  and  $\lambda(2k)$  is obvious. To show that  $\eta(p)$  is monotone increasing, write

$$\eta(p) = 1 - \left[ \left( \frac{1}{2^p} - \frac{1}{3^p} \right) + \left( \frac{1}{4^p} - \frac{1}{5^p} \right) + \dots \right],$$

and note that each term in the square brackets can be written as

$$\begin{aligned} \frac{1}{n^p} - \frac{1}{(n+1)^p} &= \frac{(n+1)^p - n^p}{n^p(n+1)^p} = \frac{[(n+1) - n][(n+1)^{p-1} + (n+1)^{p-2}n + \dots + n^{p-1}]}{n^p(n+1)^p} \\ &= \frac{1}{n^p(n+1)} + \frac{1}{n^{p-1}(n+1)^2} + \dots + \frac{1}{n(n+1)^p}, \end{aligned}$$

which is a decreasing function of  $p$ . A similar argument shows that  $\beta(p)$  is increasing as well.

In Section 2 we use the monotonic behavior of the coefficients to give short proofs to inequalities (1.1)–(1.5).

In Section 3 we apply the same idea to the three one-sided inequalities, [4],

$$\ln\left(\frac{\tan(\pi x/2)}{\pi x/2}\right) \leq \frac{\pi^2}{12} \frac{x^2}{1-x^2}, \tag{1.13}$$

$$\ln\left(\sec\frac{\pi x}{2}\right) \leq \frac{\pi^2}{8} \frac{x^2}{1-x^2}, \tag{1.14}$$

$$\ln\left(\frac{\pi x}{\sin(\pi x)}\right) \leq \frac{\pi^2}{6} \frac{x^2}{1-x^2}. \tag{1.15}$$

We shall give lower bounds to the functions in the left-hand sides of (1.13)–(1.14), as well as improve the given upper bounds.

Section 4 is devoted to the two-sided inequality for the remainder of the power series of the tangent function,

$$\frac{2^{2(n+1)}\left(2^{2(n+1)} - 1\right)B_{n+1}}{(2n+2)!} x^{2n} \tan x < \tan x - S_n(x) < \left(\frac{2}{\pi}\right)^{2n} x^{2n} \tan x, \tag{1.16}$$

proved by Chen and Qi in [3]. Using the power series (1.6), we provide a short proof to these inequalities.

All the above inequalities, as well as many others, can be found in the extensive review of Qi et al, [5]. Associated inequalities for Bessel functions are discussed by Baricz [1, Chapter 3].

### 2. Inequalities (1.1)–(1.5)

We begin by proving the Becker-Stark inequality (1.1). Since

$$1 < \lambda(2k+2) \leq \lambda(4) = \pi^4/96$$

for all  $k \geq 1$ , we use expansion (1.6) to obtain for  $|x| < 1$ ,

$$1 + \frac{(8/\pi^2)x^2}{1-x^2} = 1 + \frac{8}{\pi^2} \sum_{k=1}^{\infty} x^{2k} \leq \frac{\tan(\pi x/2)}{\pi x/2} \leq 1 + \frac{8}{\pi^2} \lambda(4) \sum_{k=1}^{\infty} x^{2k} = 1 + \frac{(\pi^2/12)x^2}{1-x^2}. \tag{2.1}$$

Rewriting (2.1) as

$$\frac{(8/\pi^2) + (1 - 8/\pi^2)(1 - x^2)}{1 - x^2} \leq \frac{\tan(\pi x/2)}{\pi x/2} \leq \frac{1 - (1 - \pi^2/12)x^2}{1 - x^2}, \tag{2.2}$$

it becomes clear that (2.2) implies (1.1).

Next, since  $1 < \zeta(2k) \leq \zeta(2) = \pi^2/6$  for all  $k \geq 1$ , we deduce from (1.8) that for  $|x| < 1$ ,

$$\frac{2}{\pi} \frac{x}{1-x^2} = \frac{2}{\pi} \sum_{k=1}^{\infty} x^{2k-1} \leq \frac{1}{\pi x} - \cot(\pi x) \leq \frac{2}{\pi} \zeta(2) \sum_{k=1}^{\infty} x^{2k-1} = \frac{\pi}{3} \frac{x}{1-x^2},$$

which is (1.3).

The proof of inequality (1.4) is a similar one-liner. Since  $\pi^3/32 = \beta(3) \leq \beta(2k+1) < 1$  for all  $k \geq 1$ , we get from (1.7),

$$1 + \frac{\pi^2}{8} \frac{x^2}{1-x^2} = 1 + \frac{4}{\pi} \cdot \beta(3) \sum_{k=1}^{\infty} x^{2k} \leq \sec \frac{\pi x}{2} \leq 1 + \frac{4}{\pi} \sum_{k=1}^{\infty} x^{2k} = 1 + \frac{4}{\pi} \frac{x^2}{1-x^2}, \tag{2.3}$$

and (1.4) follows.

Finally, the proof of inequality (1.5) is similarly short. Since  $\pi^2/12 = \eta(2) \leq \eta(2k) < 1$  for all  $k \geq 1$ , we have from (1.9) that for  $|x| < 1$ ,

$$1 + \frac{\pi^2}{6} \frac{x^2}{1-x^2} = 1 + 2\eta(2) \sum_{k=1}^{\infty} x^{2k} \leq \frac{\pi x}{\sin(\pi x)} \leq 1 + 2 \sum_{k=1}^{\infty} x^{2k} = 1 + \frac{2x^2}{1-x^2} = \frac{1+x^2}{1-x^2}. \tag{2.4}$$

Hence,

$$\frac{1-x^2}{1+x^2} \leq \frac{\sin(\pi x)}{\pi x} \leq \frac{1-x^2}{1 + \left(\frac{\pi^2}{6} - 1\right)x^2}, \tag{2.5}$$

which yields (1.5) by a simple algebraic manipulation.

Note that the left hand side of (2.5) coincides with Redheffer’s inequality in (1.2) for  $|x| < 1$ . While numerous proofs were suggested for this inequality, ours is by far the shortest. We remind the reader that Redheffer’s inequality holds also for  $|x| \geq 1$ , but for  $x \geq 1$  it follows at once from  $\left| \frac{\sin \pi x}{\pi x} \right| = \left| \frac{\sin \pi(x-1)}{\pi x} \right| \leq \frac{x-1}{x} \leq \frac{x^2-1}{x^2+1}$ .

We observe that (2.3) can be written as

$$\frac{1-x^2}{1 + \left(\frac{4}{\pi} - 1\right)x^2} \leq \cos \frac{\pi x}{2} \leq \frac{1-x^2}{1 + \left(\frac{\pi^2}{8} - 1\right)x^2}, \quad |x| < 1. \tag{2.6}$$

We claim that the coefficients of  $x^2$  in the respective denominators of (2.5) and (2.6), namely  $1, \frac{\pi^2}{6} - 1, \frac{4}{\pi} - 1$  and  $\frac{\pi^2}{8} - 1$ , are the best possible ones. Dealing with (2.6), let us begin by showing that in the left hand side denominator of (2.6) the constant  $\frac{4}{\pi} - 1$  cannot be replaced by a smaller number. Indeed, as  $x \rightarrow 1^-$  we have, putting  $x = 1 - z$ ,

$$\begin{aligned} \cos \frac{\pi x}{2} - \frac{1-x^2}{1+ax^2} &= \cos \left( \frac{\pi}{2} - \frac{\pi z}{2} \right) - \frac{2z-z^2}{(1+a)-2az+az^2} \\ &= \sin \frac{\pi z}{2} - \frac{2}{1+a}z + \mathcal{O}(z^2) = \left( \frac{\pi}{2} - \frac{2}{1+a} \right) z + \mathcal{O}(z^2). \end{aligned}$$

This is positive for small  $z > 0$  only if  $\frac{\pi}{2} - \frac{2}{1+a} \geq 0$ , hence  $a \geq \frac{4}{\pi} - 1$  is necessary. Next, in the right hand side denominator of (2.6) the constant  $\frac{\pi^2}{8} - 1$  cannot be replaced by any larger number, since near  $x = 0$ ,  $\cos \frac{\pi x}{2} - \frac{1-x^2}{1+ax^2} = \left(-\frac{\pi^2}{8} + 1 + a\right)x^2 + \mathcal{O}(x^4)$  is negative only if  $a \leq \frac{\pi^2}{8} - 1$ . Proving the optimality of the constants 1 and  $\frac{\pi^2}{6} - 1$  in the denominator of (2.5) is left to the reader.

Inequalities (2.5) and (2.6) may be improved if we take additional exact terms of the corresponding power series. For example, if we note that  $\eta(2) < \eta(4) \leq \eta(2k) < 1$ ,  $k \geq 2$ , we get

$$1 + 2 \left[ \eta(2)x^2 + \eta(4) \sum_{k=2}^{\infty} x^{2k} \right] \leq \frac{\pi x}{\sin(\pi x)} \leq 1 + 2 \left[ \eta(2)x^2 + \sum_{k=2}^{\infty} x^{2k} \right], \tag{2.7}$$

with  $\eta(2) = \pi^2/12 < \eta(4) = 7\pi^4/720$ . These inequalities may be presented also as

$$\frac{1-x^2}{1+x^2-2(1-\eta(2))x^2(1-x^2)} \leq \frac{\sin(\pi x)}{\pi x} \leq \frac{1-x^2}{1+\left(\frac{\pi^2}{6}-1\right)x^2+2(\eta(4)-\eta(2))x^4},$$

which is obviously an improvement of (2.5).

Similarly, since  $\beta(3) < \beta(5) \leq \beta(2k+1) < 1$  for all  $k \geq 2$ , then

$$1 + \frac{4}{\pi} \left[ \beta(3)x^2 + \beta(5) \sum_{k=2}^{\infty} x^{2k} \right] \leq \sec \frac{\pi x}{2} \leq 1 + \frac{4}{\pi} \left[ \beta(3)x^2 + \sum_{k=2}^{\infty} x^{2k} \right], \tag{2.8}$$

i.e.,

$$\frac{1-x^2 + \frac{4}{\pi}\beta(3)x^2(1-x^2) + \frac{4}{\pi}\beta(5)x^4}{1-x^2} \leq \sec \frac{\pi x}{2} \leq \frac{1-x^2 + \frac{4}{\pi}\beta(3)x^2(1-x^2) + \frac{4}{\pi}x^4}{1-x^2},$$

where  $\beta(3) = \pi^3/32 < \beta(5) = 5\pi^5/1536$ . These last inequalities may take the form

$$\frac{1-x^2}{1+\left(\frac{4}{\pi}-1\right)x^2-\frac{4}{\pi}(1-\beta(3))x^2(1-x^2)} \leq \cos \frac{\pi x}{2} \leq \frac{1-x^2}{1+\left(\frac{\pi^2}{8}-1\right)x^2+\frac{4}{\pi}(\beta(5)-\beta(3))x^4},$$

which improves (2.6).

Evidently, one can further improve the above inequalities by considering further terms of the corresponding power series.

**3. Inequalities (1.13)–(1.15)**

The following claim generalizes and improves inequalities (1.13)–(1.15).

**THEOREM 3.1.** *For all  $|x| < 1$ ,*

$$\frac{\pi^2}{12} \ln \left( 1 + \frac{x^2}{1-x^2} \right) \leq \ln \left( \frac{\tan(\pi x/2)}{\pi x/2} \right) \leq \ln \left( 1 + \frac{\pi^2}{12} \frac{x^2}{1-x^2} \right), \tag{3.1}$$

$$\ln \left( 1 + \frac{\pi^2}{8} \frac{x^2}{1-x^2} \right) \leq \ln \left( \sec \frac{\pi x}{2} \right) \leq \frac{\pi^2}{8} \ln \left( 1 + \frac{x^2}{1-x^2} \right), \tag{3.2}$$

$$\ln \left( 1 + \frac{\pi^2}{6} \frac{x^2}{1-x^2} \right) \leq \ln \left( \frac{\pi x}{\sin(\pi x)} \right) \leq \frac{\pi^2}{6} \ln \left( 1 + \frac{x^2}{1-x^2} \right). \tag{3.3}$$

*Proof.* The right hand sides in inequalities (3.1)–(3.3) are, respectively, the logarithms of the right hand sides of (2.1), (2.3) and (2.4).

We now turn to the left hand side inequalities in (3.1)–(3.3). Since  $\eta(2k)$  increases and  $\eta(2) = \pi^2/12$ , we have by (1.10),

$$\ln \frac{\tan(\pi x/2)}{\pi x/2} = \sum_{k=1}^{\infty} \frac{\eta(2k)}{k} x^{2k} \geq \eta(2) \sum_{k=1}^{\infty} \frac{x^{2k}}{k} = -\frac{\pi^2}{12} \ln(1-x^2) = \frac{\pi^2}{12} \ln \left( 1 + \frac{x^2}{1-x^2} \right)$$

for  $0 < |x| < 1$ . Thus, the lower bound in (3.1) is verified.

Next, as  $\lambda(2k)$  decreases and  $\lambda(2) = \pi^2/8$ , it follows by (1.11) that

$$\ln \sec \frac{\pi x}{2} = \sum_{k=1}^{\infty} \frac{\lambda(2k)}{k} x^{2k} \leq \lambda(2) \sum_{k=1}^{\infty} \frac{x^{2k}}{k} = \frac{\pi^2}{8} \ln \left( 1 + \frac{x^2}{1-x^2} \right),$$

for  $0 < |x| < 1$ , as claimed in (3.2).

Finally, as for inequality (3.3), we observe that  $\zeta(2k)$  decreases and  $\zeta(2) = \pi^2/6$ ; so by (1.12),

$$\ln \frac{\pi x}{\sin(\pi x)} = \sum_{k=1}^{\infty} \frac{\zeta(2k)}{k} x^{2k} \leq \zeta(2) \sum_{k=1}^{\infty} \frac{x^{2k}}{k} = \frac{\pi^2}{6} \ln \left( 1 + \frac{x^2}{1-x^2} \right)$$

for  $0 < |x| < 1$ , which is the lower bound in (3.3).  $\square$

We note that the upper bounds in (3.1)–(3.3) are better for all  $|x| < 1$  than those in (1.13)–(1.15). This is so since  $\ln(1+t) < t$  for  $t > 0$ . Further, as  $x \rightarrow 1^-$ , the upper bounds of (3.1)–(3.3) are of a strictly smaller order of magnitude than those in (1.13)–(1.15), since  $\ln(1+t) \ll t$  as  $t \rightarrow +\infty$ .

Moreover, near  $x = 0$  all the upper and the lower bounds of (3.1)–(3.3) are asymptotically strict, since their respective ratios satisfy  $\lim_{t \rightarrow 0} \ln(1+at) / a \ln(1+t) = 1$ .

An equivalent way to write (3.1)–(3.3) is

$$(1 - x^2)^{-\pi^2/12} \leq \frac{\tan(\pi x/2)}{\pi x/2} \leq \frac{1 - \left(1 - \frac{\pi^2}{12}\right)x^2}{1 - x^2}, \tag{3.4}$$

$$(1 - x^2)^{\pi^2/8} \leq \cos \frac{\pi x}{2} \leq \frac{1 - x^2}{1 + \left(\frac{\pi^2}{8} - 1\right)x^2}, \tag{3.5}$$

$$(1 - x^2)^{\pi^2/6} \leq \frac{\sin(\pi x)}{\pi x} \leq \frac{1 - x^2}{1 + \left(\frac{\pi^2}{6} - 1\right)x^2}. \tag{3.6}$$

The inequalities (3.5) and (3.6) bring to mind the following results of Zhu and Sun [8],

$$\frac{1 - x^2}{1 + x^2} \leq \cos \frac{\pi x}{2} \leq \left(\frac{1 - x^2}{1 + x^2}\right)^{\pi^2/16}, \tag{3.7}$$

$$\frac{1 - x^2}{1 + x^2} \leq \frac{\sin(\pi x)}{\pi x} \leq \left(\frac{1 - x^2}{1 + x^2}\right)^{\pi^2/12}, \tag{3.8}$$

which were achieved by different methods. The main drawback of (3.4)–(3.8) are the powers  $-\pi^2/12$ ,  $\pi^2/6$ ,  $\pi^2/8$ ,  $\pi^2/12$  and  $\pi^2/16$  which provide poor bounds near  $x = 1$ . In fact, the simple rational bounds (2.2), (2.5) and (2.6) are better near  $x = 1$ .

### 4. Inequality (1.16)

Inequality (1.16) is proved in [3] by a complicated calculation which shows that the quotient

$$h(x) = \frac{\tan x - S_n(x)}{x^{2N} \tan x}$$

is monotone. We propose to provide a short proof of (1.16) by establishing the following equivalent inequality:

**THEOREM 4.1.** *For all  $|x| < 1$ ,*

$$\frac{8}{\pi^2} \lambda(2N + 2)x^{2N} \tan \frac{\pi x}{2} \leq \tan \frac{\pi x}{2} - \frac{4}{\pi} \sum_{k=1}^N \lambda(2k)x^{2k-1} \leq x^{2N} \tan \frac{\pi x}{2}. \tag{4.1}$$

*Proof.* The essence of our proof hinges on the monotonicity of the coefficients  $\lambda(2k)$ . By (1.6),

$$\tan \frac{\pi x}{2} - \frac{4}{\pi} \sum_{k=1}^N \lambda(2k)x^{2k-1} = \frac{4}{\pi} \sum_{k=N+1}^{\infty} \lambda(2k)x^{2k-1} = \frac{4}{\pi} \sum_{k=1}^{\infty} \lambda(2k + 2N)x^{2k+2N-1}.$$

Since  $\lambda(2k + 2N) < \lambda(2k)$ , we have

$$\tan \frac{\pi x}{2} - \frac{4}{\pi} \sum_{k=1}^N \lambda(2k)x^{2k-1} \leq x^{2N} \frac{4}{\pi} \sum_{k=1}^{\infty} \lambda(2k)x^{2k-1} = x^{2N} \tan \frac{\pi x}{2},$$

and the right hand side of (4.1) follows.

In order to prove the left hand side of (4.1), we begin by showing that

$$\lambda(2k + 2N) \geq \frac{8}{\pi^2} \lambda(2N + 2) \lambda(2k), \quad k, N = 1, 2, 3, \dots \tag{4.2}$$

and that the inequality is strict for all  $k > 1$ . Indeed, for  $k = 1$ , (4.2) is an equality, since  $\lambda(2) = \pi^2/8$ . For  $k \geq 2$ , we recall that  $\lambda(2k)$  is decreasing, so

$$\frac{8}{\pi^2} \lambda(2k) \lambda(2N + 2) \leq \frac{8}{\pi^2} \lambda(4) \lambda(4) = \frac{8}{\pi^2} \frac{\pi^4}{96} \frac{\pi^4}{96} < 1.$$

On the other hand, we obviously have  $\lambda(2k + 2N) > 1$ , hence (4.2) is verified. Consequently,

$$\begin{aligned} \tan \frac{\pi x}{2} - \frac{4}{\pi} \sum_{k=1}^N \lambda(2k) x^{2k-1} &= \frac{4}{\pi} \sum_{k=1}^{\infty} \lambda(2k + 2N) x^{2k+2N-1} \\ &\geq \frac{8}{\pi^2} \lambda(2N + 2) x^{2N} \frac{4}{\pi} \sum_{k=1}^{\infty} \lambda(2k) x^{2k-1} = \frac{8}{\pi^2} \lambda(2N + 2) x^{2N} \tan \frac{\pi x}{2}, \end{aligned}$$

and the proof is complete.  $\square$

Since inequality (4.2) is strict for all  $k \geq 2$ , the left hand side of (4.1) may be improved in the spirit of Section 2 by taking additional exact terms of the power series.

We conclude by noting that if we replace the inequalities

$$\frac{8}{\pi^2} \lambda(2N + 2) \lambda(2k) \leq \lambda(2k + 2N) \leq \lambda(2k), \quad k \geq 1, N \geq 1,$$

which were used in the proof of (4.1), by the obvious inequalities

$$1 < \lambda(2k + 2N) \leq \lambda(2k + 2), \quad N \geq 1,$$

we get simple rational bounds for the remainder term

$$\frac{4}{\pi} \frac{x^{2N+1}}{1-x^2} \leq \tan \frac{\pi x}{2} - \frac{4}{\pi} \sum_{k=1}^N \lambda(2k) x^{2k-1} \leq \frac{4}{\pi} \lambda(2N + 2) \frac{x^{2N+1}}{1-x^2}, \quad |x| < 1. \tag{4.3}$$

For example, by  $\lambda(2) = \pi^2/8$ ,  $\lambda(4) = \pi^4/96$ , and  $\lambda(6) = \pi^6/960$ , it follows that

$$1 + \frac{\pi^2 x^2}{12} + \frac{8}{\pi^2} \frac{x^4}{1-x^2} \leq \frac{\tan(\pi x/2)}{\pi x/2} \leq 1 + \frac{\pi^2 x^2}{12} + \frac{\pi^4}{120} \frac{x^4}{1-x^2}.$$

Here  $8/\pi^2 \approx 0.8105$ ,  $\pi^4/120 \approx 0.8117$ .



## REFERENCES

- [1] Á. BARICZ, *Generalized Bessel Functions of the First Kind*, Lecture Notes in Mathematics, Volume **1994**, Springer Verlag, Berlin, Heidelberg, 2010.
- [2] M. BECKER AND E. STARK, *On a hierarchy of quolynomial inequalities for  $\tan x$* , Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. **620** (1978), 133–138.
- [3] CHAO-PING CHEN AND FENG QI, *A double inequality for remainder of power series of tangent function*, Tamkang J. of Mathematics **34** (2003), 351–355.
- [4] CHAO-PING CHEN AND FENG QI, *Inequalities of some trigonometric functions*, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. **15** (2004), 71–78.
- [5] FENG QI, DA-WEI NIU AND BAI-NI GUO, *Refinements, Generalizations and Applications of Jordan's inequality and related problems*, J. of Inequalities and Applications **2009** (2009), Article ID 271923, 52 pages, doi:10.1155/2009/271293.
- [6] R. REDHEFFER, *Problem 5642*, The American Math. Monthly **76** (1969), 1153–1154.
- [7] J. SPANIER AND KEITH B. OLDHAM, *An atlas of functions*, Hemisphere Publishing, Washington, 1987.
- [8] LING ZHU AND JINJU SUN, *Six new Redheffer-type inequalities for circular and hyperbolic functions*, Computers and Mathematics with Applications **56** (2008), 522–529.

(Received January 15, 2012)

D. Aharonov  
Department of Mathematics  
Technion – I.I.T.  
Haifa 32000, Israel  
e-mail: dova@tx.technion.ac.il

U. Elias  
Department of Mathematics  
Technion – I.I.T.  
Haifa 32000, Israel  
e-mail: elias@tx.technion.ac.il